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1. WY 3Tpfa & i q=iidt 7€ e fa & SR UE S &
8 Y HIST ST &, BT $ Wie W bd IR STpfal
fearg ame

A piece of paper is folded and cut as shown below in the

question figures. Select from the given answer figures, how it

will appear when unfolded.
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2. 39 faweu &1 991 Fifore, S TRiR qul-ayg @ 3 veRr

%rq'f‘ﬂa% o v R goRT avl-ag , ugd qvl-ayg 3 &t
|

Select the option that is related to the third letter-cluster in the

same way as the second letter-cluster is related to the first

letter-cluster

PEHI: QGKM: : WCDP:?

(a) XEGH  (b) XEGA

(c) XEGT (d) YEHI

3. TP He YT H, BIOLOGY B YRLOLTB & =Y H forar Sram

2133 Ut A NiTRATE 1 5T U I forar wiTem?

In a code language, BIOLOGY is written as YRLOLTB. How will

NITRATE be written as in that language?

(a) MRHIGZU  (b) MRGIZGV

(c) MRGIZHV (d) MGRIGZV

4. 39 GHE P 994 Sifeg, ord HBIe 34t yoR ddfta

2, oy voR PafifEd awe Pt seme ?1

Select the set in which the numbers are related in the same way

as are the numbers of the following set.

(17, 8, 153)

(a) (18,6,120) (b) (7,5, 43)

(c) (16,5, 96) (d) (9, 2, 25)

5. ‘Amphibian’ ,‘frog’ ¥ gefua % I R ‘Reptiles’

) » | Hefld %I ‘Amphibian’ is related to ‘frog’ in

the same way as ‘Reptiles’ is related to ‘

(a) Amphiuma (b) Caecilian

(c) Salamander (d) Geckos

6. T% g1 U 1 3 fRufai g=ifs weft 31 afg smrR w2 &Y,

it =i o B < e g

Two different positions of the same dice are shown. Which
number will be at the top if 2 is at bottom?

(a) 1 (b) 5

(2) /5  (d) 4

7. fapel 9@ 39 snepfa &1 T+ @ifsg, &t v few o
RS B QR el 82

Choose from the alternatives the figure that best completes the
pattern given below.

[@_ 7
EE

(a) & ()@

4z

8. ﬁaﬁrﬁamﬁﬁmﬁﬁuﬁrﬁv

How many triangles are present in the following figure?

(@) 42 (b) 39

(c) 40 (d) 36

9. I HSHI-GH FT 99 Diforg, FoRTH gt wemg 3¢t yor
it 8, oy R Frafafea Ten-gm #1 ) wem g1
Select the number-pair in which the two numbers are related in
the same way as are the two numbers of the following number-
pair

3:5

(a) 5:30 (b) 4:14

(c) 9:52 (d) 6:18

10. 39 fawew &1 9u7 Fifvw, orad & 18 spfa fAfea
B 1(gHA BT 3rgAfa e R)

Select the option in which the given figure is embedded.
(Rotation is not allowed)

(a) (b)

NN

(c) (d)
11. T, AT &Y T8 iR IO i 31 e, o=
P! Tl 3R IS Bt AT g1 dl Afed, I A 59 PR

Tafta %? Deepika is siter of Rohit and daughter of Rajesh. Sita
is wife of Rajesh and mother of Raj. How Rohit is related to Raj?

(a) 'l-ﬂ_st Brother

(b) B Cousin

(c) 9 Son

(d)ﬁﬂ‘fﬁﬁ ﬁﬁﬂﬂ\_ﬂw Can’t be determined
12. & 7TE sRae B R BT

Complete the given series-

SH, UJ, __, YN, AP

(a) wL (b) VU

(c) VL (d) XK
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13. IR YAl & 918 $o fAepd Qg U 7 I7ra a9l & sre
R R W 3ust RE T HY= # g 7T 3 8k fAvfa
wifore f faw e fAspuf # F #19 I1 e, fau e Fy=f
P aAHYUl SRV HRAT |

PYA-

R Rk

gt g s &

gt <A, a5 ¥

foremd.

|War§aﬁ$%
1.9 ¥sarsc @
I1.FD AP, aTgc T8 &

Below are given statements followed by some conclusions. You
have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide
which of the given conclusions logically follow (s) from the given
statements.

Statements-

All Red are Blue

All Blue are Black

All Black are White

Conclusion

I. Some White are Black

Il. All Red are White

lll. Some Black are not White

(a) Fad s | 3R WW% only conclusions | and Il
follows

(b) Had FsHY | &wm% Only conclusions | follows

(c) Fad sy || @WW% Only conclusion Il follows

(d) Hﬂ-ﬁﬁlﬁﬂfl, 3R &WUTW% All conclusions I, Il and
Il follows

14. FrafafEa e o 98 w1 & e o g gl ot
3o # ufvafda far s anfeee

Which two signs should be interchanged in the following
equation to make it correct?

18+6+12x3-11=101

(a) x 3fR- x and- b) + 3R+ + and+

(c) +GﬁTx +andx (d) +3'ﬁT- +and-

15. e PALE Y 4691 F TU T Hedes fdr SITdT 8 AR GOAT
P 5762 F ¥4 Heds a1 orar 8, @ eco #) frg wu A
FPeds fpar e

If PALE is coded as 4691 and GOAT is coded as 5762, then how
will EGO be coded as?

(a) 157 (b) 175

(c) 517 (d) 571

16. SN G- BT g4 PO, oI g =g It PR
weiftra 8, oy wopR fFafif@d v gw A d ag €1

China: Giant Panda

Select the word-pair in which the two words are related in the
same way as are the two words in the following word-pair.
China: Giant Panda

(a) India: Bengal Tiger (b) Pakistan: Peacock

(c) Myanmar: Macaque (d) Bhutan: Mithun

17. Frafafead ar aol: SEi 4 @ &9 e Afa R I e
Wﬁ%éﬁ?@ﬁ-ﬁél Tﬁﬁ-ﬁﬁﬁml Three of the
following four letter-clusters are alike in a certain way and one is
different. Pick the odd one out.

(a) AWH (b) DNF

(c) EJL (d) HMG
1. Fafaf@a gaear & @9 @ J=n uwlw ) #
wfaeafia sait

Which number will replace the question mark (?) in the following
series?

9,13,?,37,69

(a) 26 (b) 20

(c) 22 (d) 21

19. Fufafea densi 4 § @9 e [Afda vorR 3 @
U 8 3Rt i g1 Y P 1a PIRMEI Three of the

following numbers are alike in a certain way and one is different.
Pick the odd one out.
(a) 3186 (b) 6549
(c) 7412  (d) 2189

20. FrafafEa st & aifde ik srdyef wr & =afRu@

Fiforgl

Arrange the following words in a logical and meaningful order.
1. Universe 2. Earth 3. India

4. Milky way Galaxy 5. Delhi

(a) 53241 (b) 54231

(c) 52341 (d) 51432

21. 99 9HE $T 994 diforg, Ry e 3 yaR
waftra 8, oy R Frafafaa aag # seme 21

Select the set in which the numbers are related in the same way
as are the numbers of the following set.

(9, 3, 55)
(a) (3, 4, 26) (b) (6,9, 110)
(c) (2,1,7) (d) (7,4,57)

22. fwfafEa ar m@ﬁﬁ?ﬂﬂwﬁ%wﬁw
m%wwmgl a’rﬁmmaﬂﬁm Three of the
following four words are alike in a certain way and one is
different. Pick the odd word out.

(a) Hyena (b) Dingo

(c) Okapi (d) Ostrich

23. 9fe TP qUUT HI Xy I\ W @ A1 3, O AW IW
i, & 1S npfa #t Tgh gdur oy ghf

If a mirror is placed on the line XY, then which of the answer
figures will be the right mirror image of the given figure?

X
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\‘ / 5
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¥

24. feu U faweul # | I 99 ARG BT YT DY, S
Frufafa oot & do ey o1 3t wfaffia srar g:
Jur, FASTRH, FIREvS

Select the Venn diagram that best illustrates the relationship
between the following classes.

Seppa, Mizoram, Jharkhand

000 ,00
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25. Frafafea Sensi 4 9 &9 e FAifia ver 3 v 9w e
g GﬁTWﬁ-ﬁ%I ) A J19 BITCI Three of the following

numbers are alike in a certain way and one is different. Pick the
odd one out.

(a) 529 (b) 625

(c) 729 (d) 661

26. HigA-Slics! ¥ U5 @M ardll Ui Jao! fead a1
Tli f}? The famous dancing girl found in the Mohenjo-Daro was
made up of:

(a) DI Bronze

(b) el ATURR Red limestone

(c) @31?13? Steatite

(d) ABICT Terracotta

27. FH-9AT A fPaP WIS & QR YR B AT D12
Ibn Batutta visited India during the reign of

(a) WW Ghayasuddin Tughlaq

(b) Wﬁqw Muhammad Bin Tughlaq

(c) WWW Firoz Shah Tughlag

(d) SgdIcT T Bahlol Lodi

28. fAuferf@a o A frum 1848 # URA A e fAufor faumr
= forar ur? who among the following had started the Public
Works Department in India in 1848?

(a) 1S faferam SfR® Lord William Bentinck

(b) a%saﬁ%ﬁ Lord Dalhousie

(c) TS I Lord Wellesley

(d) TS BIHAI Lord Cornwallis

29. gudt P WeIE W s woul A te fig &1 Siviy g&
GI'&ITSIT %’-" The latitude is the angular distance of a point on the
earth’s surface with respect to the

(a) %WW Equator

(b) Uﬂﬂqmw Prime meridian

(c) Yd dRT Pole star

(d) P 3T Tropic of Cancer

30. 'QIWH’ froa gefta %? Thunderstorms are associated
with

(a) HURH AY cumulus clouds

(b) WW Cumulonimbus clouds

(c) Y&THHY Cirrus clouds

(d) TR AY stratus clouds

31. fAgfafaa # ¥ $9 9 4R Hﬂﬁ %? Which one of the
following seas is the shallowest?

(a) STfcC IR Baltic  (b) BIATIFR Black

(c) AT IR Yellow (d) 3TSld R Azov

32. fegdt qiy uivaiern fufafea o 9 5 o afeal &
T R fRya %? Tehri Dam Project is situated on the
confluence of which of the two following rivers?

(a) 3A®al - Halfdb Alaknanda — Mandakini

(b) YIRSt - fiyeT Bhagirathi — Bhilangha

(c) HAT- dHYT Yamuna —Tons

(d) sqﬁﬁﬁs‘ﬂé‘r None of these

33, FRT WGAY T IehaT HA &
YR TR APUFT TR HSTERT TART S 6HaT 81 The

President can be impeached on the grounds of violating the
Constitution by

(a) WWH@WW The Chief Justice of India

(b) WWG‘CITIECI'% The Vice-President of India

() ABGHT 3eTE The Speaker of the Lok Sabha

(d) §9G Parliament

34. WWWW%’ Inflation is caused by

(a) aﬁ&hﬁ errrtﬂ%fﬁq@ Increase in supply of goods

(b) HRXDR > Uy ddal " q@ Increase in cash with the
government

(c) Hal aqﬁﬁmﬁ Decrease in money supply

(d) aar&rrqﬁﬁq@ Increase in money supply

35. 1§ U P oc | 10c 9% T fHar ST g, O sHST
STAd-- When water is heated from 0°C to 10°C, its volume

(a) EIEHT% Increases

(b) ‘EET‘IT% Decreases

(c) :Tam?ﬂ% Does not change

(d) EI??[ Ycdi % 3R fpR dedl % First decreases and then
increases

36. gfe fOT TF@r® YUl & Uh ava $i siaiver § 7 foar
STaT 8, @t SOHT BT RN ___ UfhaT gRT NI If a
liquid is heated in space under no gravity, the transfer of heat
will take place by process of

(a) dIeI Conduction

(b) Fdgd Convection

(c) fafeur Radiation

(d) TEATHYU B SUfRUFY & TR 78T fraT ST UHAT ] Cannot
be heated in the absence of gravity

37. FARITPA BT UTfdP g¢b 1 The metal constituent
of chlorophyll is

(a) SMIURA Iron (b) TR Potassium

(c) T Manganese (d) Magnesium

8 W, m 7 4 fraar THh Y %? Fullerenes
is an allotrope of which one among the following ?

(a) MAR® Arsenic (b) e Sulphur

(c) ?I%@GFT Nitrogen (d) P& Carbon
30. fAmfaf@a & @ 1 a1 faefiq sl ot avg s wwar
%? Which of the following vitamins acts like hormone?

(a) fae T A vitamin A (b) fgerf 8 Vitamin B

(c) 3™ ¢ vitamin € (d) f3e™™ b vitamin D
40. TN TNER HT I5T H AT SITGT 82 The Flamingo
Festival is celebrated in which state?

(a) 3Y TS Andhra Pradesh

(b) PHICH Karnataka

() B Kerala

(d) W@TW Jammu & Kashmir
41. AT & UHadl F 3d Wiplad fvma ¥ $19 3
T =7 3| H?ﬂﬁ& q'&.pf far wan %? Which of the dance
forms is not enlisted in UNESCO Intangible Cultural Heritage of
Humanity?

(a) H@ﬁ? Mudiyeltu (b) SR Bidesia

(c) ®TS Chhau (d) ITHCET Ramlila
42. Ufaffd 39 T R N sRfde Folaa &1
fafafea & @ fea Joft & fear mar Ut The prestigious
Ramon Magsaysay Award was conferred upon Mr. Arvind
Kejriwal in which of the following category?

(a) Wﬁqﬁ Emergent Leadership
(b) FT[%'?\’:[ Literature
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(c) WW Community Welfare

(d) TRBRI AT Government Service

43. Fufafaq & 3 fFam uRa @ iR = -u- wifewam
a"_'ﬁ Ut ﬁﬂ'{ ?? Who among the following has received both
Bharat Ratna and Nishan -e -Pakistan?

(a) I W Ayub Khan

(b) maﬂﬁf Moraji Desai

(c) IIE'I?J:ITTIT‘Eﬁ Mahatma Gandhi

(d) AT ST hHellH HTSlIG Maulana Abul Kalam Azad

44. YA WA GRT SR Y4 Iqs5dT TA&Ior 2019 | fHa
Yad ®eE A 2 == ure fear %? Which railway station
has topped the Railway Cleanliness Survey 2019 released by
Ministry of Railways?

(a) 3IRT Agra (b) Gﬁw Jodhpur

(c) STAYR Jaipur (d) Ts:ﬁc_vﬁ New Delhi

45. 2019 UTHIUT FGESAT AT F AR HRG & S AT
foren gaw W= forem 59 T %? Which district has become
the cleanest district in India as per the 2019 rural Swachhta
survey (sanitation survey)?

(a) W(&I’T‘Hm) Karnool (Andhra pradesh)

(b) fafe= (@eT UGR) Vidisha (Madhya Pradesh)

(c) ﬁmc—vﬁ(éww ) Peddapalli (Telangana)

(d) Gﬁ'cﬁ(m) Udupi (Karnataka)

46. WA f¥ord 9% (rRBI) & SFHR T 2019-20 & forT URA
Cdl Wﬂwm (GDP) FIT 82 What is the Gross domestic
product (GDP) growth of India for the year 2019-20 as per
Reserve Bank of India (RBI)?

(a) 6% (b) 6.1%

(c) 6.5% (d) 6.9%

47. T TS0 B WEHR T30 I B RITGAT HA arell 22
Which state Government is about to set up Time Bank?

(a) JTR UK Uttar Pradesh

(b) A U Madhya Pradesh

(c) STRIGE Uttrakhand

(d) SIRWS Jharkhand

48. 59 Io9 B WER Ft fqy=aYT, dgedt TwREH
=y 3% %? Which State’s Government Legislative
Assembly has become first to go Paperless?

(a) Wﬁwﬂ-ﬂ Maharashtra Legislative Assembly

(b) JIRGS fAYT IHT Uttrakhand Legislative Assembly

(c) oI a8 T Rajasthan Legislative Assembly

(d) YRGS fa8U™ T Jharkhand Legislative Assembly

49. IOV TIP! Ay BT 2023 Y ASEF) S ;M HEM?
Which Country will host 2023 Men’s Hockey world cup?

(a) Gﬁ@ﬁﬂT Australia (b \_rlfl:ﬁ Germany

(c) YURd Indla Netherlands

50. TS g1 H, ﬁaﬁrﬁﬁﬁﬁﬁmmaﬁﬁﬁﬁ
THdr uﬁm Pl geH & foT URT A Wivlae SRy U
fear %? Recently, which of the following tech giant has
introduced ‘Project Zero” in India to remove counterfeit

Projects?
(a) Flipkart (b) Paytm
(c) Snapdeal (d) Amazon

51. Gf¢ A, B 3R ¢ BT S Th YN P HHT: 40, 48 3 36
A A R HT uPd §1 9 A e sl Fd € At 3= a1l
aﬁqmaﬂﬁﬁmﬁﬁqaﬁﬁv If A, B and C can complete a

piece of work in 40, 48 and 36 days respectively. How many days
will they take to complete the work, if they work together?

wl2fET  16fe
17 13
(c)l 5;; days @ 13 days

52. U AT 3R ITP b ¥ T 3N 5 81 3P U7 3N
ERiEd GshH BT 3T fFad SRTER 82 The average of a

number and its reciprocal is 5. The average of its cube and its
reciprocal is equal to:

(a) 485 (b) 525

(c) 480 (d) 415

53. 599 UG, A DI 3T B B AT BI SR A | 37T ada=
3R PT 3UTd 4:3 8| 5 T TG ITHT AR BT TNT AT B2

5 years ago, A’s age was double of that of B. Their present age
ratio is 4:3. What will be sum of their ages after 5 years?

(a) 33.5 (b) 27.5

(c)41.5 (d) 55

s4. WA Seiia fawy & ue udten & fore o 8w 100 B
21, Hfdewa, WMiviae 3R 91541 & 3 &1 fAUTT 35%,
25%, 22%, 18% | TP faemdf 28 & 70%, Mfaecda & s0%,
wotae # 50% 3R 15T # 40% 3% YT HdT g | df Ui
yfa=ra fFa=T UT? For an examination of practical bases subject,
the total marks is 100. The break up for theory, practical, project
and viva is 35%, 25%, 22%, 18%. A candidate scored 70% in
theory, 60% in practical, 50% in project and 40% in viva. What
was the aggregate percentage?

(a) 57.7% (b) 43.9%

(c) 68.7% (d) 79.3%

55. TP Rfsad ¥, U@ Tlie v 99 & SR TP JaPR
TY & IRY 3R Th THH Tfd A S IET 8 | JATPR UY & Hg
A TP X T8 SUSP B gRI TP AP S A 3P gRTaT
a1 Tar ®Ivr 18° YR SET @1 @ 99 W TS V&P gRT
ATAIPT A W Ve gRT 9”1 BT ST Arq(fSHht
ﬁ)ﬁ)_tF'lT 3-17""‘ In a stadium, an athlete is running in a circular
path with uniform speed during a practice session. The angle
covered by him during one second is found to be 18° by coach
observing him from the center of the circular track. What would
be the measure of angle (in degrees) described by the athlete by
an observer standing on the circle?

(a) 9°

(b) 36°

(c) Wﬁﬁﬁ%%ﬁ@ﬁwwﬁﬁ{m% it depends on
the exact position of the observer on the circle

(d) 22°

?

b .
Zl'ﬁ'.’:l:]:ll:+::=3:5:? AT —— Ja-oe Wﬁﬁ_rl'l'?f?
56. 3(a+b+c)
a—b+
If a:b:c = 3:5:7, what is the value r:ri"L :
2la+b+c)
(a) 11/45 (b) 3/37
(c) 15/31 (d) 13/9

57. frafaf@a # @ FT I 0°<0<90° A TR Tear g2
Which among the following decreases continuously in the range
0°<0<90°?
(a) CotB
(c) SinB

(b) Tanb
(d) SecB
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58. T P! PI YWAT 2x2987y,72 A AU B It (x+y) BT
ms‘lﬁmﬁl The seven-digit number 2x2987y is divisible by
72. Find the value of (x+y)

@s (b8
@0 @ ﬂ

E-ﬁﬁm"%{(x + i) — (x —i)}a-‘rwﬁrcm%?
59.

The value of expression = - {(x + )ﬂ - (x - i):} is

(a) 1 (b) 1/2

© 3/4 (d) 2

60. U FUAGUTER 99 &1 fAwof wusr: oA ik 24 At
Gl EEa) REL I WISTE | The diagonals of a rhombus

bus are respectively 9cm and 24cm . find its area.

(a) 08H2 08m? (b) 10.8 {2 10.8m?

(c) 0.108 {2 0.108m? (d) 0.0108 HI? 0.0108m?

61. ThgiG oSl W A% Ft 7S ve FAf3a o=y = af
3R B8 a9 A HURE: 24334 T. 3N 27648 F. T A §, 7
T a1 U & Haiford 8 1 o sare R ufersra grd S
A certain sum invested on compound interest grows to Rs 24334
and Rs 27648 in three and six years, respectively when the
interest is compounded annually. Find the percentage rate of
interest?

(a) 4.34% (b) 6.79%

(c) 26% (d) 9.61%

62. &l a¥geil A | UAP P 18911 %. A ST AT 81 T ag
TR 29% PT ATY UTST ST 8 AR GoR W 27% Pt g1 ghelt §,
at 39 R A A g1 a1 @y ufa=ra fam 82 Two items
are sold for Rs 18911 each. On One item there has been a gain of
29 % and on the second item a loss of 27% what was the overall
loss or gain percentage in the transaction?

(a) BT 6.22% Loss 6.22%

(b) BT 5.76% Loss 5.76%

(c) QY 5.76% Gain 5.76%

(d) °TY 6.22% Gain 6.22%

63. Th FAYS pPar ¥, Ac, PQ & FHMIAR TH et ¥@T1 39
UPR § f ar (PQR) :ar(ACR) = 5:2 §, af qQr:qc TP SRR
3-'\1'“? In a triangle PQR, AC is a straight line parallel to PQ such
that ar (PQR) : ar(ACR) = 5:2 then QR:QC is equal to:

'-.:"E{ W5+ \:‘E} \-"E{ V5— \-"E}
(a) 3 (b) 2

V5(v5-43) V5(v5+2)
(© 2 (@ ¢

64. TS O P! HUIM: 28% 3R 4% DI 3l B e F d1G
483.84 %. H ST STl %I o sifpa e fea %? An article is
sold Rs 483.84 after two successive discounts of 28% and 4%
respectively. What is the mark price?

(a) 750%. Rs750  (b) 700%. Rs 700

(c) 600%. Rs600 (d) 680%. Rs 680

.0050 . e = P
2o 125X 0 ST EReligpd HH T 87
65. 0.0050+1.90

The simplified value of
2.0050 + 12.5 x 107°

0.0050 + 1.90
(a).1.0035  (b) 1.0122
(c) 1.0155 (d) 1.0525

66. Tl 6 TP Y PIVT B, 3N g faur a1 3 5 7 5in0 + 24
cos =25 %, ¥ tane BT WM fHaar %? If @ is acute angle, and it
is given that 7 sin@ + 24 cos0 =25, then what is the value of tan0?
(a) 7/25 (b) 7/24

(c) 24/25 (d) 25/7

67. TH JA DI QI AT AB 3R D TA F AR B figo W
TS gk P yfasfea st g1 af ag femr mm @ fF a0 =1
[, AB=13 T, cp= 7 J B1 & co 3R op F d= BT
Surd foraan %? Two chords AB and CD of a circle intersect at
a point O inside the circle. If is given that AO = 1cm, AB=13cm,
CD= 7cm. What is the ratio between CO and OD?

(a) 3:4 (b) 5:1

(c) 2:3 (d) 4:1

Suof(2+2)- (634 (54 o) | wim Y

68.
The simplified value of

3= -::F(——— (5 +(E+§)
1a E
@ 3 (b) 67
130 _ 150
@ 3 @ 7

69. TP AR HIURYI TS WR 8 961 A T Afa &= 4 3
THT 8 9Telt 81 98 THY 9d ST Pt A & A U ARy
10 T[T BHAL-

A sum at simple interest becomes 3 times in 8 years at a certain
rate of interest p.a. the time at which the same sum will 10 times
at the same rate of interest is.

(a) 20 ¥ 20 years (b) 18 ¥ 18 years

(c) 36 Ty 36 years (d) 25 ay 25 years

70. GHH A | UfoHTE 3ia fasst & fat 9, gor c &
3 TIT@_F[%? By how much quantity is the average sale per
month from A more or less than that from C?

(a) 7500 fHUT T 3Mf¥F more by 7500 kg

(b) 6750 fHUTH 31U more by 6750 kg

(c) 7500 P T H less by 7500 kg

(d) 6750 TFUTH FHH less by 6750 kg

71. U 2019, UIE @1 3NTa bl frat 82 what is the
average sale for the month march 2019?

(a) 11666.66  (b) 13777.77

(c) 9129.99  (d) 10123.33

72. ABCD U% U Igye 39 @8 & & % Asjico &1 YT

AD SRR BC TR SHHR: ?f‘!vﬂ’fﬁgs‘am%ﬁ?xwmsél
gfe AX:XD = 4:3 3R cp 3R AB HHR: 18 [Tt X 81 [t 1
¥ xy AT aﬂﬁrm ABCD is a trapezium such that ABJ||CD. X and
Y are two points on side AD and BC respectively such that XY||AB.
If AX:XD = 4:3 and CD and AB are 18 cm and 81 cm respectively.
Find XY?
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(a) 723 72cm  (b) 63T 63 cm

(c) 45T} 45cm  (d) 54 JHT 54 cm

73. A, B 3R ¢ UTSU Ueh <1 &I HHT: 6 Ue , 8 U 3T 12 He
T WR TP §1 TfS A 3R ¢ P Fad Ugd & U F e @an
7T 8 3R fhY A &Y 5 & far wimar § S 8 &t @i
faar Smar 3 1 Y 919 FINE 6 A & 9 81 & a1 fpaq ge o
Eﬂ'ﬁ@ y¥ft A, B and c pipes can fill a tank in 6 hrs, 8 hrs and
12 hrs respectively. If A and C are opened for first two hours only
and then A is closed while B is opened. Find in how many hours
the tank gets full after A is closed?

. 3 Z Hrs
(a) 4 4hours (b) 1%
6 I
(c)2 15 Hrs (d) 7 7 hours

74. ¢ TP 9 BT 3% B &P I dR PI dds 9 a1
FF AT FRR IV IR P F @I Faag, @
I B g R BT & ah 3R 3o it S o B
F AR BT 3UTd JTd B, If 08 B Sars 2 A 82

If the curved surface area of a cylinder is numerically equal to
the perimeter of the square made of length of a wire which is in
the form of a circle of radius of 14 cm then find the ratio of sum
of the height and radius of the cylinder to the difference of the
height and radius of the cylinder, if the height of the cylinder is 2
cm?

(a)30:13 (b)16:13

(c)15:13 (d)15:11

75. $% 0 3T 2ABC = 125° & 1Y €I TS 3Mpfa & o Fa
Egll?rlQ |

Find 0 in the given figure with center O A and ZABC = 125°

p Y‘/
)

(a) 55° (b) 45°

(c) 65° (d) 35°

76. In the sentence identify the segment which contains the
grammatical error.

Between you and |, you are more intelligent than I.

(a) Between you and | (b) you are more

(c) intelligent than | (d) No error

77. In the sentence identify the segment which contains the
grammatical error.

We had to postpone the meeting because only the few persons
were present there.

(a) We had to postpone the meeting

(b) because only the few persons

(c) were present there

(d) No error

78. Select the most appropriate option to substitute the Bold
segment in the given sentence. If there is no need to substitute
it, select No improvement.

I shall not be going to market to purchase household items. Shan’t
?

(a) Willl (b) Isn’t1

(c) Shalll (d) No Improvement

79. Select the most appropriate option to substitute the Bold
segment in the given sentence. If there is no need to substitute
it, select No improvement.

Despite of working hard, he stood waiting for his selection in the
entrance examination.

(a) Inspite (b) Despite

(c) Although (d) No improvement

80. Select the most appropriate word to fill in the blank.

The dictator ordered the execution of every insurgent who
soughtto___ his authority.

(a) Endorse (b) Liberate

(c) Subvert (d) Redeem

81. Select the most appropriate word to fill in the blank.

The Collector and District Magistrate on a visit to offices
today.

(a) are (b) is

(c) had being  (d) have

82. (QUES; 82 -86)

In the following passage some words have been deleted. Fill in
the blanks with the help of the alternatives given. Select the
most appropriate option for each blank.

Thousands of people been agitating in various parts of the
country since December 11, the contentious citizenship
bill was passed in Parliament. On December 21 students of Jamia
Millia Islamia staged a protest again outside the university campus
against the Citizenship (Amendment) Act (CAA). In Uttar Pradesh
death toll due to violence ___ to 11, said Officials. A call for a
bandh was given in Rampur by anti-CAA protesters even as CrPc
Section 144, which bars assembly of people, was in force in the
region. While historian Ramachandra Guhatermed CAA _
"immoral", Mayawati the Centre should give up 'stubborn
stand' on citizenship law.
Thousands of people

been agitating in various parts

(a) has (b) have

(c) had (d) will

83. the contentious citizenship bill was passed in
Parliament

(a) if (b) then

(c) for (d) when

84. Pradesh death toll due to violence to11

(a) rose (b) raised

(c) rises (d) lifted
85. While historian Ramachandra Guhatermed CAA
"immoral"

(a) as (b) with
(c) of (d) its
86. Mayawati the Centre should give up 'stubborn stand'

on citizenship law.

(a) tells (b) submitted

(c) asked (d) said

87. Select the most appropriate meaning of the given idiom.
In Vogue

(a) giving vague information

(b) travelling by walk

(c) to bein trend or fashion

(d) to be adamant

88. Select the most appropriate meaning of the given idiom.
In Vain

(a) without success or a result.

(b) flow without stopping

(c) be highly successful
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(d) to be confused

89. Select the word which means the same as the group of
words given.

A squirrel’s house

(a) Drey (b) Hive

(c) Sty (d) Creche

90. Select the word which means the same as the group of
words given.

Basic facts of a matter

(a) Nitty gritty (b) Spick and Span

(c) Deficit (d) Nadir
91. Select the most appropriate synonym of the given word.
Fleeting

(a) Transient (b) Transparent

(c) Tranquil (d) Tepid

92. Select the most appropriate synonym of the given word.
Guile

(a) Honest (b) Hot

(c) Chicanery (d) Charming

93. Select the most appropriate antonym of the given word.
Unholy

(a) Pity (b) Impious

(c) Pave (d) Venerate

94. Select the most appropriate antonym of the given word.
Lax

(a) firm (b) careless

(c) loot (d) fiction

95. Select the wrongly spelt word

(a) dangerous  (b) skillful

(c) beautiful (d) vaccum
96. Select the wrongly spelt word.
(a) knoty (b) haughty

(c) vagabond (d) yolk

97. In the following question, a sentence has been given in
Active/Passive voice. Out of four alternatives suggested, select
the one, which best expresses the same sentence in
Passive/Active voice.

None saw her in the office.

(a) She was seen in the office.

(b) She was not seen in the office.

(c) She was not being seen in the office.

(d) She was not been seen in the office.

98. In the following question, a sentence has been given in
Direct/Indirect speech. Out of the four alternatives suggested,
select the one, which best express the same sentence in
Indirect/Direct speech.

You say, “l went to India yesterday”.

(a) You said that | went to India the previous day.

(b) You said that you went to India the previous day.

(c) You say that you went to India the previous day.

(d) You say that you had gone to India the previous day.

99. Given below are four jumbled sentences. Out of the given
options pick the one that gives their correct order.

(Q) Addressing a rally at Delhi’s Ramlila Maidan to kick off the
BJP’s campaign for the Delhi Assembly election, Mr. Modi,
however, said the NRC was conducted only in Assam in line with
the Supreme Court’s order.

(S) He attacked the Congress and “urban Naxals” for spreading
“lies and rumours” about the NRC, the Citizenship (Amendment)
Act (CAA) and detention centres for Muslims, and followed it up

with an appeal to the youth to both read and read up on the NRC
and the CAA.

(R) Nor have its rules and regulations been formulated. A bogey
is being created,” he said, towards the middle of his one hour-
and-forty-minute address

(P) “The NRC — what lies are being spread about it... this [the
NRC] was made during the Congress era. Were you asleep then?
We didn’t make it; it didn’t come to Parliament, nor did it come
to the [Union] Cabinet.

(a) PQRS (b) PRSQ

(c) QSPR (d) Qsrp

100. Given below are four jumbled sentences. Out of the given
options pick the one that gives their correct order.

(P) Companies, and governments worldwide.

(Q) Globalization or globalisation is the process of interaction
and integration among people,

(S) Into a global, unregulated market economy.

(R) As a complex and multifaceted phenomenon, globalization is
considered by some as a form of capitalist expansion which
entails the integration of local and national economies

(a) QPRS (b) QRPS

(c) PQRS (d) PRQS
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